So far we have learned the present tense, which is based off of the first principle part.  There are 6 principle parts.  The first shows progressive action.  The third shows a past-complete action.  This is the aorist, which is what we are now learning.

Principle Parts: 1- present and imperfect (active, middle and passive)



2- future (active and middle)



3- aorist (active and middle)



4- perfect and pluperfect (active)



5- perfect (middle and passive)



6- future and aorist (passive)

Don’t worry bout memorizing these until later.

The Present tense shows contemporary continuous action.  The imperfect also shows continuous action, but in the past.  The difference between the aorist and the imperfect is that the aorist is not only past, but complete.  Think of it like this…The present and imperfect are as if you are viewing a motion picture and seeing the process of the events.  The aorist is as a snapshot photo.  You don’t know the process of how long something happened, you just know it did happen.  (i.e.- aorist “I studied Greek.”  This could be for 10 minutes or 2 hours…but we did it.   

Imperfect “I was studying for ½ hour)

Now for what you need to know – Lesson 4
For the aorist we will take again our stem  and add the aorist endings.  For a present indicative active we had For the aorist we have   The aorist indicative takes the stem, adds an augment, a sigma, and the personal ending (theme vowel being an alpha).  Those 3 things: augment, connecting vowel.

KNOW the augment combos on pg. 23 and the sigma combos below that.  Then know the endings and be able to reproduce some aorist forms.

1st person sing.  becomes 

2nd person plural of becomes 

Finally, know the prepositions and the case(s) each take (i.e.-takes the accusative).

NOTE: if you have a compound verb form like , to form the aorist and add the augment, you put it directly on the verb form, not the preposition which has been already added to the front…so you get 

